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WALT divide 3 digit numbers
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You have 5 minutes to answer these 5 questions. 

In the back of your journal, write the date. 

Try your best and show all of your working out (making sure 
your final answer is clear).

If you finish, check your working.

Can you beat your best score? 
Can you beat your best time?

Give me 5!
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1. 32 x 6 = 

2. 478 - 294 = 

3. 529 - 75 = 

4.  68 ÷ 4 = 
5. 1/3 of 27 = 
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1. 32 x 6 = 192

2. 478 - 294 = 772

3. 529 - 75 = 454

4.  68 ÷ 4 = 17
5. 1/3 of 27 = 9
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Is this a grouping or sharing problem?

What information have we already got?
Which information do we need?

How could we work it out?
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How could we partition 408 to help us to work out 408 ÷ 4?
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Let's recap how to set this method out.

264 ÷ 2 =
200 ÷2 =
60 ÷ 2 =
  4 ÷ 2 =

+ + =
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Now we are going to have a look at a different 
method we could use for division.

2  6 8
68 ÷ 2 =

We can set it out like this
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Steps to success!
1./ Divide 6 tens 
     between 2.
2./ Each person  gets  
     3 tens. 
3./ Share 8 ones 
     between 2.
4./ Each person gets 
     4.
5./ There are no ones 
     left.

There are no 
tens left.
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We have divided 
all the ones, 
there are 0 left.

Let's use this method to work out the following questions...

1.) 396 ÷ 3 = 2.)  963 ÷ 3 =
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Now have a go at worksheet 13. 



January 18, 2021



January 18, 2021

Mastery
1. Billy has 366 ping pong balls. A box of ping pong balls has six 
balls in it. How many boxes does Billy need?

2. Tanya picks 120 apples. She packs them into 5 sacks. How 
many apples in each sack?

3. There are 228 books in the class library. Mrs White packs them 
into 12 boxes. How many books are in each box? 

If she wants to pack 6 in each box, how many boxes would she 
need?
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ANSWERS
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Mastery
1. Billy has 366 ping pong balls. A box of ping pong balls has six 
balls in it. How many boxes does Billy need?

61 BOXES

2. Tanya picks 120 apples. She packs them into 5 sacks. How 
many apples in each sack?

24 APPLES

3. There are 228 books in the class library. Mrs White packs them 
into 12 boxes. How many books are in each box? 

19 BOOKS

If she wants to pack 6 in each box, how many boxes would she 
need?

38 BOXES


